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Problem 1. If possible, use the integral test to explain whether the following series
converge. If it is not possible to use the integral test, explain why.
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Problem 2. State what can be concluded from the nth term test for each of the following
series.
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Problem 3. Consider the series Yoo, In ().
a. Find the first three terms sy, s2, s3 of the partial sum sequence (sn).
b. Find a general formula for s,,. Remember that In(a/b) =Ina — Inb.
c. Use your general formula to compute limy, o Sp.
d. Does the series converge or diverge?

e. This series is an example of what is called a telescoping series. Where do you think
this name comes from?
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